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Answer The Following

11 Two dice are olied. Whal = 1he pobabiliy 1hal 1the fwo numbere= add up 1o a prime
nurmber?

2) A bag conlains 2 red balle. 5 blue balke. and 7 geen balke. Camnldmaws 2 balls oul of 1the
bag. Whal iz 1he pmbabkiliy 1thal she gei= a red balland a blus ball?

2) Coin A Eflpped 2 1imes and coin B i flipped 4 {ime=s. Whal i 1he pobabkiliy 1thal 1he
numberof heads obiained From flipping 1the 1wo coins i 1he same?

4y Adyre manufaciuerkeseps the mcord of how much diglance the fyes manufaciued by
1he company imvel before Failing. They Find 1he follbwing dala

Distance traveled in Kilometers|Mumber of failing tyres
Le==z ithan 5000 20
000 1o 10000 300
10001 1o 20000 260
20001 Ao 40000 504
Mo than 40000 =1

IF Sandm buy= a iyre From 1them. whal = 1he pobabilily 1that i will =1 more than 20000
kiomelem=?

5 Whal ig 1the pobakiliy 1thal a kap yearwill conlain 53 Tusesdays?
Choose comect answens) from given choice

) A poll i=iaken among people wolking in AllEnia. The aim was 1o 222 whal theirannual
salares was.

Annual Salary Number of peaple
Le== ithan 40000 |260
40001 1o 73000 820

FT3001 1o 150000 1940

150001 1o 250000 (2752

Mom than 250000 (4128




